6) Suppose teenagers come in 3 varieties: toothsome, lucky and giant. Because you
don’t have anything better to do you find 60 teenagers and count how many fall into each
variety. This generates the following table:

observed frequencies of teenagers Y, L Ses Lt :( «p/c/c‘l}fyvl& le 7(;
toothsome lucky giant /
25 12 23

Make a table of the expected frequencies.
Using an alpha value of a = 0.01 test the null hypothesis that the 60 teenagers are
distributed evenly across the 3 varieties of toothsome, lucky and giant.
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Does the type of computer that students use in our class depend on gender? To find out
we’ll run a XQ test for independence using alpha = 0.05.

We'll use our survey data and count the number of students who use each kind of computer,

depending upon their gender. This generates the following 2 X 2 table:
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Apple PC
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observed frequencies
Apple PC
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Male 13 13 pA
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